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I Analysis of end of 2 mwn — dispute D'nan/n™ about animal-form being considered n1
a SN n™’s reason — since animals are described as “formed” (7¥’) as is DR (V. 6)
i Challenge: then sea-monster form should also be a 7o, per v. 1
1  Answer: the verb used there is 873, not 1%’
2 Challenge: why does it matter; we use n2w::nR’a (vv. 2-3) as analogy
(a) And: we could infer via n®»2::18"1 (man is also described as “created” —v. 4)
(b) Answer: n®»1is needed to teach about creation of man; N’ is superfluous, hence mam for MW N
(i) Counter: perhaps n®™M1 is the “extra” phrase and nv¥’ is needed for itself
(c) Rather: npy is mam in both instances — man and animal; nX»1 only (possibly) mamn for oTR, not for >’an
(i) challenge: Ny is mom for animals per vv. 5-6; but wran are also “doubled” — vv. 1, 5 (nnTRN WN9)
(ii) answer: v. 5 refers to land-based vermints, not sea-creatures
ii  question: why is M9 in both instances preferable?
1 Answer: per YRnw, quoting YRynw»
(a) If:awisn’t mom at all (in either instance) — cannot be used
(b) If: a w1 is Mmon in one instance —
(i) Snvpw2 7. may be used to infer and invulnerable to challenge
(if) 227 may be used to infer and may be challenged
(c) But if: a w™ is mom in both instances, may be used to infer and is invulnerable to challenge
(d) Question: according to YRynw’ 1, what is the practical difference between TnR 7¥n nmmn and P772 220N NMN
(i) Answer: if we have a choice between them, we’ll prefer P72 22910 mamn,
1. And: that is why DTR:nnn2 is P77 20 Mam (superfluous in both instances)
2 Alternate: per ™, regarding impact of v"11 depending on the level of superfluity of its instances
(a) If:awisn’t mom at all, may infer and may be challenged
(b) If: a vty is man in only one of its instances
(i) Swnyper 1 may be used to infer and invulnerable to challenge
(if) 227 may be used to infer and may be challenged
(c) But if: a " is mam in both instances, may be used to infer and is invulnerable to challenge
(d) Question: according to 1317, what is the practical difference between Tnx T¥n mam and not nam at all?
(i) Answer: if we have one of each, neither with a challenge, we prefer the one that is Tnxk T¥n mam
(if) Note: challenge in our case — DR is unlike Nnna — he can become ®nv while alive
b pnr 71 (per #axn 72 8711 77): explains n”1’s reason same as YRINY — DTR::NNNA via NPR::NIN
i Challenge (’n% *7): then mountain-form should be n7% nxnv, per v. 7
1 Response: women don’t miscarry in that form; rather, it is a “rock” ("wn”)
it Challenge (7px ") then if she “births wind” (unformed piece) should be n1% nxrnv (ibid)
1  And:itis mam, as verse could have omitted X121 and it would have had same intent (m 1 o0 %)
2 Response: we cannot infer via a w”1x from o811 ("1 121”) to NN M7
¢ jpnv 71 (per n7237): since animal’s eyes are like human eyes
i Challenge: if she “births” a snake-shape, should be n1% nknv, since they have eyes shaped like human eyes
1 Proposal: indeed, but it couldn’t be mentioned in nwn, as we would assume that that is the only point of disa-
greement between nnan/n™, since it doesn’t state N’¥? in context of snake; but 13171 agree in re: 9 M nnna
it Challenge: in re: nnna »mMn (R M2 ’01N) - if an animal has a human-like eye, it is a D (> typically, they are distinct)
1 Answer: that is referering to the socket (typically different); n"y (per janv '7) referring to “black” (pupil)
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d A2 /7. n"'s reason is that animals have their eyes looking ahead of them (stereoscopic vision) like people
i Challenge: birds do not have eyes looking ahead, yet n”1 includes them in his list
it Answer (»728): n™ is only Rnvn if it looks like an owl, which has human-type vision
1 Challenge: R"an1 favors n™ in re: 7'M NnNa and 1317 in re: MaY
(a) Clarification: cannot refer to owls, as they should be judged like n'm nnna
(i) Rather: must refer to other birds — and n" evidently holds his position regarding all birds
(b) Answer: R"an1 favored n” in re: N ,inna and owls and onan regarding other birds, as n” didn’t dissent there
2 Ap7x ¥"ary —if it looks like "M nnna — according to n™, it is a 19, according to oonon — it isn’t
(a) But: if it is avian-like, should be checked
(i) Doesn’t this mean: checked according to n”, who only holds ®nv if shaped like an owl?
(i) Rejection (8”37 7772 NN 77): checked according to 1139, who hold that owl-shaped n%an is nrno
1. Reason: owl have cheeks/jaws like human
e  Tangential question (1" 07 *1— intended as a joke): according to n"1, who holds that "nnna” (shape) is a 151
i What if: the father accepted pwyT'p on behalf of that 191?
ii  Impact: to make the sister forbidden to the wTpn
1 Challenge: shall we consider this n2'nn alive? (no Mo’R of IMYR MNR unless that “wife” is alive)
2 Clarification: 21 indicated that n”’s approach only applied to something which would live — if its own kind
(a) Explanation: must be well-formed enough that if it really were a nnn3, it would live (=»this isn’t alive)
(b) Note: P07 "1 was trying to make a joke, but 87171 didn’t laugh
f  Revisiting 37's comment: n™’s ruling was only in case of one that would live
i no7p ipy 71 support from X:n M1 —(in re: NYM1% 731 ,172% NM02) — if she is »an something looking like n*m nnna
1 »77: thatis a valid 19 (and exempts later births from jn3% n1131)
2 opom: must have human form
3 But if: she is %an a formed substance, sac or formed pieces come out — it is }13% 7131 and the next one is n5m1% M2
(a) And if: we think that this is considered “alive”, how can the next one be noni% 7132?
(b) Defense (x¥37): may be considered alive; rule of nYm% 31 is unique, per v. 8 - MR WK,
(i) Meaning: a child for whom he would mourn (m»R) or be worried — as opposed to this one
g Tangential question (»axm 7378 72 NTX “7): according to n™ (nnna-shape in woman’s womb is 151)
i What if: there is a human shape in an animal’s womb? What is its status
1 Practical application: whether it may be eaten
ii ~ Response: why not answer from 11N '7’s ruling — if someone slaughters an animal and finds a dove-shape creature inside, it
may not be eaten
1 Block: they’re not the same — the dove has no mv1a (split hooves) nor a nv1a (any hoof)
(a) But: in the case of a human, even thought there are no mon9, there certainly is a no19
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